Cuws

INSTALLATION MANUAL UTV-59HP

Level of Difficulty Product Photo
Easy

Parts List g g g
@) @) ™% (

6  Rivet nut, 1/4" - 20
6 | Flat washer, 1/4"

6 | Lock washer, 1/4" ,

6 | Pan head screw, 1/4" - 20 x 1" ( 9 — o C { B C

Phillips screw driver  Large pliers or

rivet nut tool

v J b \ N

Drill Marker

Drill bit, 7716 UTV Tool box (not included)

Torque Specifications
M6 bolt 3 ft-Ibs.
M8 bolt 7 ft-Ibs.
M10 bolt 16 ft-Ibs.
M12 bolt 28 ft-Ibs.
1/4" bolt 3 ft-Ibs.
5/16" bolt 7 ft-Ibs.
3/8" bolt 16 ft-Ibs.
7/16" bolt 20 ft-Ibs.
1/2" bolt 28 ft-Ibs.

Use above torque setting unless otherwise noted

Notes and Maintenance
Before you begin installation, read all instructions thoroughly.
Proper tools will improve the quality of installation and reduce the time required.

To protect the product, wax after installing. Regular waxing is recommended
to add a protective layer over the finish. Do not use any type of polish or wax
that may contain abrasives that could damage the finish.

For polished, gloss and other smooth finishes,

polish may be used to clear small scratches and scuffs on the finish.

Mild automotive detergent may be used to clean the product. Do not use dish detergent, abrasive
cleaners, abrasive pads, wire brushes or other similar products that may damage the finish.

Refer to the table to the left when securing hardware during the
installation process to help prevent damage to the product or vehicle.

CURT.
UWSTA.COM - NEED ASSISTANCE? - 833.387.7720 + UTV-59HP-INS-RA « PAGE 1 (E GROUP



Step 1

If desired, place a piece of foam or

tape (not included) on the square

tube of the UTV between the toolbox
and the square tube to protect the finish.

With assistance, carefully
place the toolbox on the UTV.

Position the toolbox in the desired
location and carefully open the lid.

Step 2

With the lid of the toolbox open,
locate the three mounting slots
in the bottom of the toolbox.

Mark the location of the two outer
slots with a marker. Marks should
be centered on the UTV box side.

Step 3

With assistance, remove
the toolbox from the UTV.

Using the drill and 7/16" drill bit, drill

four holes, two on each side. Holes should
be centered on the UTV rails at the locations
that were marked in step 2.

Remove any tape and push
four rivet nuts into the holes.

Note: A minimum of four mounting points
is required. Extra fasteners are included
if maintenance or repair is needed.

CURT.
UWSTA.COM - NEED ASSISTANCE? - 833.387.7720 + UTV-59HP-INS-RA « PAGE 2 (E GROUP



Step 4

Fasten the rivet nuts to the UTV side
panel using a rivet nut tool or a large
pliers and a screwdriver. Make sure
the rivet nut is properly seated before
proceeding to step 4.

Step 5

With assistance, place the toolbox back onto
the UTV. Fasten the toolbox to the UTV using
the pan head screws, lock washers and flat
washers. Make sure the the fasteners are tight
enough to compress the lock washers.

Step 6

Congratulations on the installation
of your new UWS UTV tool box.

With the tool box installed, periodic
inspections should be performed to
ensure all mounting hardware remains tight.

To protect your investment, see the
‘Notes and Maintenance' section on the
first page of this instruction manual.

If desired, tape (not included) can

be placed over openings in the bottom
of the toolbox to prevent dust from
entering the toolbox in dusty conditions.

CURT.
UWSTA.COM - NEED ASSISTANCE? - 833.387.7720 + UTV-59HP-INS-RA « PAGE 3 (E GROUP



